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(Fn) (7he X
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217 | 105.12.14 HER 33 - - 1.7 1.7 P ¢ i9iF
216 | 105.10.11 22 PREAD LT - 1.9 8.6 10.5 A isag © 4
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215 | 105.09. 21 3 X3 - - 3.51 3.51 # P © i93F
214 | 104.10. 20 & K X3 - - 1.9 1.9 # B
213 | 104.09.24 E 3 - - 3.8 3.8 # B
212 | 104.09.15 i3 X3 - - 1.7 1.7 B
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207 | 104.01.29 BE X ] ] 12 3 42 o
206 | 104.01.22 *F KA - 6.8 17.8 24.7 # I
205 | 103.12.11 *F Fi - 14.1 445 58.6 W
204 | 103.10.23 B KA : 12,6 42.1 54.7 # I
203 | 103.09.25 | 2 @A KA - 3.9 13.8 17.7 PR
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200 | 103.08.18 S FE T - 13 37 c prem
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132 | 101.11.14 *F KA : 2.1 5.7 7.8 § o




e - =2 i n*_ -131) ﬁi -134) ﬁéj -137/ iﬁ-1344+£$-/137 25 oy
(B sl=am) [ (BselaT) | (Bs/aT) (B s/=T)
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130 | 101.11.7 BE 33 - 14 17.2 31.2 =
129 | 101.10.11 g3 kB HE - 2.9 5.7 8.6 1
128 | 101.10.8 i R el @& - 15.4 28 43.4 § v
127 | 101.10.4 E 733 - 75 10 17.5 #
126 | 101.10.4 3 31 - 4.4 7.6 12 e
125 | 101.10.4 Fi e 3l - 43 8.8 13 £ K
124 | 101.10.3 3 31 - 12.4 21.3 33.7 1L
123 | 101.10.3 E r X - 16.6 29.9 46.5 #
122 | 101.10.2 K 33 - 11.6 21 32.6 i
121 | 101101 | EFCHe Kk L5 - 10.6 13.2 23.8 TS
&)
120 | 101.9.27 %K 31 - 24.9 45.6 70.5 <R
119 | 101.9.20 a3 k5% % - 21 38 6 e
118 | 101.9.13 % F X - 3.2 5 8.3 1
117 101.9.6 V3 r3- - 4.9 6 10.9 ak §
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115 | 101.8.28 GEFE T - 3.2 6.5 9.7

114 | 101.8.22 Y T AR 185 - 3 4.7 7.7

113 | 101.8.14 $FEF ¢ 31 - 10.7 18.9 29.6
112 | 101.8.10 % K X - 23.2 40.7 63.9
111 | 101.8.10 £ 3l - 14.3 25 39.3
110 | 101.8.10 £ 3l - 15.5 24.7 40.2
109 101.8.9 | Ab 4 & ¥ (¢h & i 185 - 5 8.1 13.1
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108 101.8.9 % F 33 - 7.1 11 18.1
107 | 101.7.31 2P F 31 - 3.9 6.3 10.2
106 | 101.7.31 298 F 31 - 28.7 435 72.2
105 | 101.7.26 HE 33 - 2.3 3.8 6.1

104 | 101.7.26 PsidEE 33 - 12.5 20.7 33.2
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89 101.5.11 SR RE X - 47.6 81.8 129.5
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86 101.5.3 298 F Y33 - 17 27 44

85 | 101.05.03 HE X3 - 8.3 11 19.3

84 | 101.04.27 SERE 31 - 42.2 60.9 103.1

83 | 101.04.19 %K 31 - 18.4 29 47.4

82 | 101.04.19 B3 33 - 8.8 11.1 19.9

81 | 101.04.14 BEFRF r 33 - 31.9 44.5 76.4

80 | 101.04.11 I 3 - 11.8 16.6 28.4

79 | 101.04.06 A2 F % r 33 - 71.9 109.6 181.5

78 | 101.04.06 £ r 33 - 12.7 19.8 32.5
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65 | 100.12.28 1F 44 el &5 - 4.6 5.7 10.3 LA
64 | 100.12.17 C¥ 3 I - 132 189 321 W
63 | 100.12.14 S F T - 33 4.1 7.4 LK
62 | 100.11.30 AP A KA & - 6.2 8.2 14.4 TR
61 | 100.11.25 2 E 3= - 13.4 18.2 31.6 o
60 | 100.11.14 kR R KA & - 2.5 4.8 7.3 § 4
59 | 100.11.11 kR R k2 & - - 2 2 4
58 | 100.11.11 F A kA& - 2.7 4.1 6.7 T4
57 | 100.11.11 |44 & 7 (¢he Eik| 418 % - 26.8 38.1 64.9 A g
2D

56 | 100.11.10 % F 3~ - 43.8 52.4 96.2 o
55 | 100.11.09 g3 k% % - 6.6 75 14.1 je &
54 | 100.11.07 |#@F& A&7 g (?he k| 41 d & - 32.6 40.2 72.8 § v
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51 | 100.10.31 = | - 4.4 6.1 10.6 13
50 | 100.10.28 B A kA& - 1.6 2.4 4 L4
49 | 100.10.25 v A kA& - 6.7 10.8 17.5 A
48 | 100.10.25 o o kA& - 19.6 28 47.6 LGS
47 | 100.10.25 &R kA& - 3.7 5.4 9 T4
46 | 100.10.20 g3 Kk % %8 - 20.7 24 44.7 e &
45 | 100.10.05 a3 98 31 - 14.5 16.2 30.7 L4
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41 100.09.20 - 6.1 7 13.1 R
40 100.09.16 - 7.7 8.3 16 RS
39 100.09.13 - 5.8 59 11.7 § v
38 100.09.13 SRR A - 3.3 6 9.3 R
37 100.09.09 Al - 3.8 5.1 8.8 14
36 100.09.09 - 2.2 3 5.3 R
35 100.09.07 - 6.6 7.1 13.7 T 4E
34 100.09.07 A - 9.6 12 21.6 14
33 100.09.05 L(* - 39.7 375 77.2 LA g
32 100.09.02 - 6.3 8.1 14.4 T 4E
31 100.08.26 KA & - 7.4 6.5 13.9 LR
30 100.08.26 kA & - 8.2 11.7 19.9 R
29 100.08.26 KA & - 59 7.7 13.6 LS
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